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SN 2w
M SN2 (2HD)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2N 873,193 904,911 A31,718
HH2ALH|(SHH) 58,929 57,974 955
JlI=23sl 58,929 57,974 955
JI=23Hl 49,041 48,034 1,007
201 fer= 3| 22,347 21,606 41
01 At 2|l 16,227 16,806 VANSY(®
OgAH| 60,0002 x 119 * 1 7,140
O=gl 8,000& *3AI*x12Z x19%H %95% 5,19
Oget+=ZHI 240,0002 x 18 «90% 3,888
02 S3=4gl 6,120 4,800 1,320
OBBLB(SMLBELEE S)
510,000 * 122 6,120
202 04| 26,694 26,428 266
01 =LHOLI 2,3% 2,128 266
o220l 140,000 x 19 *90% 2,3%
02 XN 24,300 24,300 0
OZA04H| 225,000 x 18 * 12 #50% 24,300
AR et 9,883 9,940 NB2
203 HR=AH] 9,888 9,940 PNV
01 D[22 PR FA| 6,000 5,940 60
OJ2A2FLRFTHI(OIEN)
6,000,000 6,000
02 HRAIMAHA R S| 648 760 A2
OFRAIRALRFTHI(O1EN)
40,0003 x 18 *90% 648
M EAEgER=A 3,240 3,240 0
ORAN2ELRFTHI(OIEN)
300,000 * 122 *90% 3,240
JI=HEMHIA 2SH28HEH) 814,264 846,937 A32,673
SRS 379,937 372,300 7,637
o, ety =X 203,420 162,620 40,800
301 LEIE NS 203,420 162,620 40,800
o7 8801 - 3Es243 203,420 162,620 40,800
oolg+¢ 400,0002 x34E « 12 163,200
Ool¥zle #A+¢
20,0003 x 122 +34 & =23 16,320
Oolgdd= 300, 0002 x34 & 22 20,400
Oerd 2= 25,0002 *70 *23] 3,500
C2Y AHEX 0ISAY 7,915 6,742 1,173
101 @124H| 7,645 6.442 1,203
M ORINZZE2NSE S 7,645 6,442 1,203
Ok=4 2 Xl 3l 2Ry
78,8802 x 102 +6E 4,733
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
ORQUBHIAIAE 2eld]
148,000& * 12 1,776
Osdetd 2Xl2teldl
100,000 * 122 1,200
02 s3=gHl 48,790 57,897 29,107
OHAANEZ 15,0003 =122+ 1UH 180
OBA ABIHE NBR
100,000& « 12 1,200
Ogee g !X 4,157
-Atg =Xl 3,240,000 *1CH 3,240
-ASXHEAIR 57,0002 *1CH*13] 57
-NSAHEEs 830,000 *1CH*13 830
- K-S XhAl 30,0003 *1CH*13] 30
O33712 gatate| it 2kl
48,0002 12 48
ORdgs Ad= 25,0003+ 122 300
Oudd =3015)| M2 [l
500,000& 12 500
OBA &= 31,245
= 7, 1703 x120kW= 122 10,325
-AMEZ 20,920
- {E(6-88) 1323 %15, 000KWH*3Z 5,940
5,7t2(3-5,9-102)
922 *13,000KMH=53 5,980
- AS(11~28) 1203 %15, 000KWH*5Z 9,000
(OFat=-s-I\|s] 5,326
-ZAH(15E0l5t) 3,109& x1,728m *9(0% 4,836
-& (15 0l5tH) 1,642 +331M" +90f% 490
O&HI=Albl 972
-0l 80,000 +5CH*90% 360
-0ll=2| 100, 0002 *3CH*90% 270
-IAHS 80,0003 *1CH*90% 72
-y 100,000 *3CH*90% 270
Os2I HIIZA =8
150,0002 %12 150
Od= FAEHH 2,600,000& %12 2,600
O&AL CCTVellE = 132,000& ~ 12 1,584
OOy orastdd Hlde Su=
11,0003 =401~ 123 528
401 AIEHIZ SR THYI 6,300 56,000 A\49,700
01 AlZ8| 6,300 56,000 249,700
ZEHO AL ST A
6,300,000 * 14 6,300
AR SXER =& 1,700 1,850 A150
201 er23| 1,650 1,800 A150
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01 At22telt] 300 0 300
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2 s5=34l 1,350 1,800 A450
OSUFSE SRS (HI]) KR 1,350
-ASi E8= 650,000 *1CH 650
NP IN]: 700,000 *1CH 700
307 glztol & 50 50
0192 & 3=l 50 50
ORgel #2=H| 10,000 +5& 50
FOTRIME 2E 19,328 2,000 17,328
201 er2 3| 1,400 2,000 2600
01 AtR2t2|HI 900 1,000 A100
O=xoXtilg T2 2882 & 423
] 900,000 900
02 s3=ghl 500 1,000 A500
OAlZ EHIs Xl 500,000 500
401 AlEHIZL SO 17,928 17,928
01 Al&H| 17,928 17,928
O=2IXX T2 184 |
17,928,000& 17,928
SN2 28 29,754 271,342 2,412
201 er=23y| 29,754 17,182 12,572
01 AtR2t2|HI 4,187 1,400 2,787
OARESE & 225 7Y
315,000 *14] 315
O2gds =&
70,0002 *10E * 121 +80% 560
O3totA 2| 100,000& * 12 1,200
O&D|etA 2telb| 121,000& * 122 1,452
OFIEHIAIAE 22(H|
55,0003 * 122 660
2 35244l 25,567 16,782 9,785
O=Xa2 g 23
50,0003 *122]*90% 540
Oo=slga dles 8,740
= 6, 1603 *36KW+ 122 2,662
N = 1= 6,078
- i5E(682) 1322 *4, 500KWH*3Z 1,782
- 5,28 (3-58,9-102)
923 +3,600KIH*5 1,656
AsE(11-28) 1202 +5, 500KWH*4Z 2,640
O=Xaa SS3tad JJIes
373,0003 x 122 x90% 4,029
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=Xz2 dot+E=
40,0003 * 122 +90% 432
O=Xzl2 SSadd ot Rs
85,0003 122 «90% 918
OASRXNHI(FEA 1,280 *475M" x70% 426
(OFS1:[E P[] 882
-0l 80,000 *6LH*90% 432
-dEu 300, 0002 *1CH*90f% 270
B 100, 0003 *2CH*90% 180
Od2 FAEHH 9,600,000 9,600
MOtE2sE2 sk 20,400 20,400
301 LEtE NS 20,400 20,400
14 IIEt2 83 20,400 20,400
OMOIEXNEA - 242l 22 #4258
50,0002 +68 2 +63] 20,400
HFAIE ZH| 1,000 1,000
201 Let2 ] 1,000 1,000
® 2= 1,000 1,000
O0t2I2S7I17 S22l
1,000,000 1,000
FI=JAY 434,327 474,637 240,310
FoI=JA 251,800 282,016 A30,216
401 Al HIZL 2048 251,800 282,016 A30,216
01 Al&H| 250,000 280,000 30,000
OH=0ts 71 ZHISA
40,000,000 *14] 40,000
OFctits 7 H EBISAH
15,000,000 * 14! 15,000
OZEtS 022 =2 FH| & otAZ
HYSA 35,000,000 * 14| 35,000
O=4H0tS 022 MEE & =2 FH
SAt 40,000,000 *14] 40,000
OZEAIDLE Ot OtAZ ZHSA
25,000,000 * 14! 25,000
ONTISOIS MIE FHIZA
45,000,000 * 14 45,000
OArE A
50,000,000& x 14 50,000
03 AIZSTHYI 1,800 2,016 A216
OFU=2A A2 0l
250,000,000 0.72% 1,800
FUE OOl AALS 28,820 39,935 A11,115
401 Al HIZL S 0HYI 28,820 39,935 A11,115
01 Al&HI 28,820 39,935 A11,115
OS4tits Xl 2el+=H XA
14,410,000 14,410
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Hu: J|RHEAHIA A2
=Hel Fe=AY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O&AOtE 2] 2cl+=H XA
14,410,000& 14,410
2SSl 67,353 73,801 6,448
201 er=23y| 67,353 73,801 N\6,448
01 AtR2t2|HI 21,710 0 21,710
OI2S(E2S) FA2
50, 000 *6685=+65% 21,710
02 S52g4l 45,643 73,801 A28,158
OJI2S(22E) &3
6,200 » 122 x6685=+90% 45,379
OJIZS ZAIANAE SHRS
264,000 264
KHEFHOH CHH 25,808 25,082 726
101 21AH| 4,070 3,404 666
04 JIZtN2 2N S 2+ 4,070 3,404 666
OAxFXIEHl 212
105,700 x5 +7H 3,700
odlisgs s 3,699,500 *10% 370
201 Ler=23| 19,038 20,678 A1,640
01 AtR2te|Hl 16,038 17,628 1,590
OttEHI g2 A S4H|
8,000 2 * 120 +00fk 1,728
ON&EH EY Xz
25,0003 »24LH =92 5,400
Oss=74tl &xt=
660,000 *152| *90f% 8,910
02 S3=gl 3,000 3,050 A50
O&==J| |Al2cll 10,0002 *50CH*90f% 450
ON&&blI=X 170,000 * 15CH 2,550
206 M=l 2,700 1,000 1,700
01 M= H| 2,700 1,000 1,700
ON4E gatzs+e 3,000,000 *90% 2,700
ot=2H RXl2el 30,324 30,324 0
401 Al HIZ 2018 30,324 30,324
01 Al&H| 30,000 30,000
Ot =4 & FAl2c
30,000,000 30,000
03 A& THYI 324 324 0
Ot =4 & FA22 208l
30,000,000 *1.08% 324
ZZXE & R 2CIMY 23,222 23,479 N257
101 @124H| 18,222 17,779 443
M ORIMZZ2NSE S 18,222 17,779 443
O Z20t37)| oY
78,8803 702 3L 16,565
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=Hel Fe=AY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o= 2201)| 4WPER S
16,564,800 *10% 1,657
206 M=l 5,000 5,700 AT700
01 M=4l 5,000 5,700 AT700
O2R & Mz+Y 5,555,000 *90% 5,000
FOIH OO AALS (FRIAIEH ALY 7,000 0 7,000
401 AIEHIZ SR 0HYI 7,000 7,000
01 Al&HI 7,000 7,000
O=2¢H 882 Z8E& &4
7,000,000 7,000




